
Übung 2
Klett S. 17/2 und 3



Übung 2
Klett S. 17/4 und 6



S. 17/2
Σ={0,1,2,...,9,A,B,...,Z}
V={<platz>,<kurz>,<lang>,<reihe>,<ziffer>,

<ziffer0>}
<platz>→<kurz><lang><feld><lang><ziffer>
<kurz> → A | B | C | D
<lang> →  A | B | ... | Z
<feld>  → 0<ziffer>|<ziffer><ziffer0>
<ziffer> →  1 | 2 | ... | 9
<ziffer0> →  0 | 1 | ... | 9
S=<platz>



S. 17/3

<zahl> → - <ziffer><rest> | <ziffer><rest>
<rest> → <ziffer0><rest> | ε
<ziffer> →  1 | 2 | ... | 9
<ziffer0> →  0 | 1 | ... | 9



S. 17/4

V={<Alkan>,<Rand>,<Innen>}

<Alkan>  → CH4 | CH3 - <Rand>
<Rand> → CH3 | <Innen> CH3
<Innen>  → <Innen> CH2- | CH2-





S. 17/6 
a) <palindrom>  → 1 <palindrom> 1 | 2 

<palindrom> 2 | 3 <palindrom> 3 | 4 
<palindrom> 4 | 1 | 2 | 3 | 4 

b) <palindrom>  → 1 <palindrom> 1 | 2 
<palindrom> 2 | 3 <palindrom> 3 | 4 
<palindrom> 4 | 1 | 2 | 3 | 4 | ε

oder
<palindrom>  → 1 <palindrom> 1 | 2 

<palindrom> 2 | 3 <palindrom> 3 | 4 
<palindrom> 4 | 1 | 2 | 3 | 4 | 

11 | 22 | 33 | 44 




